Gold 18 18” Two Motor Upright Vacuum

Parts Scpe/iﬁétic

Item #85801

Better Resources. Better Results.

CBETCO.

©Betco Corporation. All Rights Reserved = 1001 Brown Avenue + PO, Box 3127 = Toledo, Ohio 43607-0127 + 800-777-9343 » www.betco.com




J

e

a 00138 — ZHO9 ASLI ATEGW3SSY HSNJ8 d¥3MOd 81 4709

X¥dS wwg| x ¢ /0 M3HoS
W3S ONIY WYO4

HIHSYM 9N

XVdS Wwz| X ¥N
3131dK02 1108 HSNYE OL¥
(80d 0L HOLIMS) 318vD M3LNI
3L¥7d ONILNNOW NOLLNENHENL
31v1d H0O0T14 WOLLOB OL¥
138V ONILYY

X¥dS wwi| X $ S/2 m3Hos
XvdS wWWwpz x #N
NOLINBNHNL

13%0vHE ONIXId HOLOW
¥344N8 ONOT

d¥D MJ0MVLS wuwg

ONOT SNICINON 3100IN HSNHB H3MOd
YIHSYM dWNV1D

(BZ1 IX)1138 3ANO

0N0D M3MOd LNdNI

Iv03d 1004

ONINdS 3SVII3M Muvd

IIXY 133IHM

990 T33HM

W3S 1134

HSNB 3¥vNDS

13%0vee 13315 SS3yd

3L¥1d 30IS NOINNNHL

1734 30IS NOINNNHL
NOINNNAL

3Aivid dWv1D

di¥o 318vD

(ON3 ¥OLOW) 3AIMO 039902
31¥1d HOLIMS

HOLIMS OHOIN

. Nid 10Ald

3IXv ¥3TI0¥

431104 H00Td

INI¥JS LN3NLSNPOY H3110Y
SONX LININLSNrQY LHOI3H
ADIL — O¥VO8 LINDHID

ONIY L¥OddNS HOLOW

HOLON MDOE 2H 0S AOIIL
SN3T NI 42

738v1 81 H3A0D dOL
ONIOINOW dOL HSNYE H3MOd

65098
Ly09R
0¥098
6£098
£4098
8r0o9e
L0988
ogc0se

19098
¥£098
£ro9e
#9098
1£098
0g£o9e
62098
BZ09B
B1BSE
LZ098B
9Z098
Seo9s
BBBSE
86858
L6858
96858
S6BS8
6858
£6858
C68SE
| 6858
oe8se
BEBSE
eeese
L8BSEe
98858
£eBse
v8Bse
Lv098
£e8se
zeese
18858
oeese
64BS8
8L8c8e
LLBSE

N e ——ydo—

["s]

mrrrrNer s e e N s e e NN NN~ )~ ="

“TNMm+nor~onl

NOILdI¥OS30 Ly¥¥Yd ONY ©N 1¥¥d 3LOND 3SY31d ONI¥3QHO N3HM
6098 — WVHIVIO ONIHIM

NOLLJINOS30

\

‘ALD ‘ON LlHvd

=
E

T-EZLI LIPS 00/€0/4T SHINOL'M




M.TONKS 29/03/00 15:24 PL170B-5

32

33

TO BE APPUED TO MATING FACES
OF ITEMS: 25 & 57

WHEN ORDERING PLEASE QUOTE
PART No. AND PART DESCRIPTION

—_— —

SILICONE SEALANT 'DUNLOP-DP2205’

ITEM __ PART Neo. aTY. DESCRIPTION
1 85820 1 MAINS LEAD 50' (!mm/2CORE)
2 85821 1 CABLE MDY
3 85822 - 3mm EXPANDED CORD SEAL
4 85823 1 CABLE GROMMET
5 B5824 | CABLE GRIP
[ 85825 2 SCREW C/S 4 x 20mm SPAX
7 85826 1 J-WAY TERMINAL BLOCK
8 85827 | BAG FULL INDICATOR
9 85828 1 INDICATOR TUBE
10 85829 1 BRASS EYELET
1" 85830 1 ON/OFF SWITCH
12 85831 2 TOOL CUP
13 85832 1 HANDLE TUBE
14 85833 1 PLASTIC HANDLE
15 85834 1 M6x10 SOCKET GRUB SCREW DOG POINT
16 85835 ! MBx30 PLASTIC KNOB
17 85836 1 CATCH PLATE
18 85837 | ARM SPRING
19 85838 1 NO BAG INDICATOR ARM (RED)
20 85819 1 PAPER DUST BAG
21 85839 1 CATCY
22 B5840 2 SPRING
23 85841 3 HINGE PIN
24 85842 | FRONT CASING (RED)

25 85843 | REAR CASING

26 85844 1 INLET ADAPTOR

27 85845 1 BAG INLET

28 B5846 1 FILTER COVER

29 B5847 1 FILTER (BAG BURST)

30 85848 1 MOTOR MODUNTING PLATE

31 85849 1 RUBBER MOTOR RING

32 86053 1 VAC MOTOR 110V

33 B5851 1 MOTOR MOUNTING PAD

34 86065 1 MICRO SWITCH PLUNGER

35 85853 1 MICRO SWITCH

36 85854 1 EXIT FILTER

37 85855 1 BAFFLE FOAM

38 85856 1 MOTOR COVER

39 85857 1 REAR HANDLE

40 85858 1 SCREW C/5 3 x 12mm SPAX
41 85859 1 SOCKET OUTLET (2 PIN)

42 85860 2 M5 x 10 PLASTIC KNOB

43 85861 1 STRETCH HOSE (330mm)
44 85862 2 SWIVEL END INNER

45 85863 4 RETAINING CLIP

46 85864 2 SWIVEL END OUTER

47 85865 2 32mm SWIVEL HOSE ASSY
48 85866 1 PLASTIC TUBE

49 86066 1 SUCTION TUBE RETAINER

50 85868 4 SCREW PH 4 x 35mm SPAX
51 85869 8 SCREW PH 4 x 20mm SPAX
52 85870 1 SCREW PH 4 x 12mm SPAX
53 B5871 1 300mm NYLON CORD

54 85872 1 ANTI-STATIC RESISTOR ASSY
55 85873 1 INLET NOZZLE DUST SEAL

56 B5874 1 BRASS EYELET
57 85875 1 ANTI-STATIC LEAD COVER
58 85876 1 MICRO SWITCH PLATE
59 86051 1 PLUG RETAINING BRACKET
60 86052 1 SCREW PH 3 x 12mm SPAX
61 86053 2 SCREW PP No6 x 1" AB POINT S/TAP

GOLD 14/18 VACUUM UNIT

115v

— BETCO y

N—




Upright Dry Vacuums

Operator’s Manual

Gold 14 Item #85800
Gold 18 Item #85801

Better Resources. Better Results.

BETCO.

* ©8etco Corporation, All Rights Reserved = 1001 Brown Avenue « PO. Box 3127 « Toledo, Ohio 43607-0127 = 800-777-9343 « www.betco.com




Operator Manual - Gold 14, Gold 18 Two Motor Upright Vacuum

INTRODUCTION

This manual will help you get the most from your Betco Gold 14 Vacuum.
Read it thoroughly before operating.

The Betco Vacuum is intended for commercial use.

PARTS & SERVICE:

Contact your BETCO AUTHORIZED DISTRIBUTOR for repair parts or
service. Please specify the Model & Serial Number when discussing your
machine.

NAME PLATE:

The Model & Serial Number of your machine is located on the Name Plate
on the vacuum tank assembly. This information is often needed when
ordering repair parts for the machine.

IMPORTANT SAFETY INSTRUCTIONS
When using an electrical appliance, basic precautions should always be

followed, including the following:
Read all instructions before using.

! WARNING!
To reduce risk of fire, electric shock, or injury:

*+ Do not leave the machine when it is plugged in. Unplug the unit from
the outlet when not in use & before servicing.

* To avoid electric shock, do not expose machine to rain. Store indoors.

* Do not allow to be used as a toy. Close attention is necessary when
used by or near children.

* Use only as described in this manual. Use only manufacturer’s
recommended attachments.

* Do not use with damaged cord or plug. If machine is not working as it
should return it to a service center for inspection.

* Do not pull or carry by cord, use cord as a handle, close a dooron a
cord, or pull cord around sharp edges or corners. Do not run machine
over cord. Keep cord away from heated surfaces.



* Do not unplug by pulling on cord. To unplug, grasp the plug, not the
cord.

* Do not handle plug or machine with wet hands.
* Do not put any foreign object into openings. Do not use with any
opening blocked; keep free of dust, lint, hair, & anything that may

reduce airflow.

* Keep hair, loose clothing, fingers, & all parts of body away from
openings & moving parts.

* Turn off all controls before unplugging.

* Do not use in or around flammable or combustible liquids such as
gasoline or use in areas where they may be present.

* Connect to a properly grounded outlet only. See grounding
instructions.

GROUNDING INSTRUCTIONS

This machine must be grounded. If it should electrically malfunction,
grounding provides a path of least resistance for electric current to reduce
the risk of electric shock. This machine is equipped with a cord having an
equipment-grounding conductor & grounding plug. The plug must be
plugged into an appropriate outlet that is properly installed & grounded in
accordance with all local codes & ordinances.

! DANGER!

Improper connection of the equipment-grounding conductor can result in a
risk of electric shock. Check with a qualified electrician or service person
if you are in doubt as to whether the outlet is properly grounded. Do not
modify the plug provided with the machine. If plug will not fit the outlet,
have a proper outlet installed by a qualified electrician.

Replace the plug if the grounding pin is damaged or broken.
Extension cords connected to this machine should be 12 gauge, 3-wire

cords with 3-prong plugs & outlets. DO NOT use extension cords more
than 50 feet long.



PREPARING THE MACHINE FOR OPERATION

Safety check the cable and plug before starting.

Check the brush and remove any string or debris, which may be wrapped
around the brush.

Check that a bag is fitted and is in good condition.
Plug the vacuum in to the power outlet.

Adjust the brush height to suit the carpet thickness. There are 4 settings; a
setting of 1 allows maximum contact of the brush with the carpet.

Turn the main power switch on. The main vacuum motor will start.

Hold the handle and depress the red foot pedal. This will allow the handle
to be lowered to a comfortable working position and at the same time, start
the brush motor.

Vacuum the floor.

Using the Wand
Return the handle to an upright position.

Remove the wand by pulling it backwards and upwards. When the wand is
removed the brush motor will stop automatically.

Use the crevice or upholstery tool as required.

After use, return the wand to its original position, ensuring that it fits
correctly.

Dust Bag Full

This vacuum is fitted with a red “Bag Full/Blocked Hose” indicator. It will
light if the airflow is obstructed.

If the light comes on, switch off and check the dust bag. If the dust bag is
full, replace it with a new bag. If the bag is not full, check the wand to
ensure it is not blocked.



Dust Bag Replacement
Open the door by pulling the door latch.

Hold the top of the dust bag with one hand and with the other, pull the
bottom of the bag down and out. Seal the bag using the flap.

The vacuum cannot be closed until a new bag is fitted. Always fit a new
genuine BETCO dust bag.

Changing the Inlet Filter
Remove the bag as described above.
Twist the filter cage anti-clockwise and lift.

Replace the filter with a new genuine BETCO filter and replace the filter
cage.

CAUTION! Do not use the vacuum without an inlet filter.

Warning Lights

This vacuum is fitted with a 3 color-warning lamp. This lamp operates
when the brush motor is working.

The GREEN lamp indicates that the brush is working correctly.

The ORANGE lamp indicates the drive belt is broken. The RED lamp
indicates that the motor has stopped.

Belt and Brush Replacement

Turn the machine upside down and align the two clips with the front edge
of the vacuum.

Lift off the brush cover and remove the brush roll. If required, fit a new belt
around the motor spindle and the toothed wheel on the brush roll.

Ensure that the rubber end caps are seated properly and refit the brush roli
in the sockets.



AFTER USE

Unplug the power cord, starting from the machine wrap the power cord
onto the tank assembly.

Completely empty tank filter of debris.
Wipe the entire machine with a clean, damp cloth.

Inspect the machine & all accessories for damage. Perform any required
maintenance or repairs before storage.

Store the machine in a clean, dry place.



